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QUESTION 1

You are installing Hitachi Device Manager and need to verify the existence of the peer user profile. Which user name
should you verify?

A. hauser

B. system

C. manager

D. administrator

Correct Answer: A

QUESTION 2

What are two features of Hitachi Global Link Manager? (Choose two.)

A. It manages many servers\\' multi-path connections from a single console.

B. It keeps customers informed of the status of all their multi-path links.

C. It provides load-balancing across multiple servers.

D. It performs automated distribution and installation of the Hitachi Dynamic Link Manager software.

Correct Answer:. AB

QUESTION 3

A VSP customer wants to optimize their multi-pathing environment and improve 1/O performance. Which two Hitachi
Dynamic Link Manager (HDLM) features will assist this customer? (Choose two.)

A. HDLM spreads 1/0 workloads across available paths to ensure that no single path becomes overworked or under-
utilized.

B. The HDLM server monitors the client hosts\\' multi-pathing agents and redistributes 1/0s so no single path becomes
overworked or under-utilized.

C. HDLM provides multiple load-balancing algorithms to balance I/Os across available paths.
D. HDLM analyzes 1/O profiles and determines the most appropriate buffering policy.

Correct Answer: AC

QUESTION 4

A storage administrator has been asked to use Hitachi Device Manager (HDvM) to provide information about storage
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utilization by hosts for an urgent meeting. When the report is created, several hosts have no utilization data associated
with them. What is the reason for the missing data?

A. The hosts do not have the HDvM agent installed.

B. The hosts have not been refreshed.

C. The storage system has not been refreshed.

D. The storage system polling is not synchronized with the report creation.

Correct Answer: A

QUESTION 5

You are installing Hitachi Device Manager (HDvM). During the installation, the database backup procedure failed and
the installation was interrupted. What should you verify?

A. If the HIRDB is corrupt.

B. If the HDvM Backup service is running.

C. If the installation media is corrupt.

D. If there is enough disk space on the backup destination.

Correct Answer: D
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